
Assembly Manual
FJ-52 Vertical Tilting Bed



 Q4     
    (2PCS) 

 V1      
    (4PCS) 

    (M4*23) 

 A5     

 P3     R3      A7      B7      O1      D3      L1      F3     

 D5      Q2     R2      S3      S1      Q7      U2      D6      C51     

 J61      W5     X52     

 Y5     

 A6      B6      Q6      F6     

 F7     

 U51     
    (1PC) 

    (500*50*5) 

 U52     
    (1PC) 

    (500*50*5) 

(2PCS) (2PCS)
S3      

    (M6*30)     (M6*40) 

H2      

  (1PC)                      (48PCS)                  (40PCS)                 (50PCS)                   (46PCS)                 (32PCS)                     (4PCS)                    (2PCS)                  (2PCS)     

    (78*20*15)                (D15*13)                (D7*32)                (D5.8*30)                (D3*16*8)            (D5*26*20)               (D7*48)                  (M8*25)             (60*30*30)     

H7      
    (2PCS) 

    (M8*1) 

E7      
    (2PCS) 

    (D8*1) 

O7      
    (2PCS) 

    (M8*8) 

 (8PCS)             (8PCS)               (4PCS)             (2PCS)               (10PCS)                   (4PCS)                    (48PCS)                 (42PCS)   

H5     F5     G5        Z5      C7   
             (2PCS)              (2PCS)          (2PCS)         (2PCS)                (3PCS)            (2PCS)

(M6*42)      (M6*15*12)           (M8*8)             (M6*5)            (D4*30*8)             (M6*20*12)             (D3*16*6)               (M6*30) 

         (43*13*30)       (D12*18)     (D24*60)     (D12*33.5)       (50*12*12)       (D8*20)

(4PCS)           (4PCS)            (4PCS)          (4PCS)                      (3PCS)                      (2PCS)                     (2PCS)                   (2PCS )                 (1PC)

 (1PC)                         (1PC)                     (2PCS)                     (2PCS)                    (2PCS)                     (2PCS)    

 (M4*25)          (M4*15)          (M6*30)         (D4*35)                 (66*37*6)                  (M6*70)                         ( )         ( )(276*34*15) 52*50*25 100*50*5

   (154*48*10)        (154*48*10)            (61*26*6)              (45*15*12)    (600N/100N D 22*580)  (50*35*30)      

I7
    (2PCS) 

    (M8*70) 

 D7      
    (2PCS) 

      (D16) 

 A10      A1      B1      G1      Q1      J1      S4      Q3     

C13      
    (2PCS) 

    (50*1.5) 

B13      
    (2PCS) 

    (50*1.0) 

A13      
    (2PCS) 

    (50*0.6) 

    (1PC) 

 J62     
    (1PC) 

 C52     
    (1PC) 

    (100*50*5) 

 E62      
    (1PC) 

      (207*30*35) 

 E61      
    (1PC) 

      (207*30*35) 

    (34PCS) 

      (M6) 

    (2PCS) 

      ( ) 138*52*24

X51     

 J51      
    (1PC) 

      (54*54*25) 

 J52      
    (1PC) 

      (54*54*25) 

Hardware List

Exterior Standing Frame Fitting

Bedframe Fitting

Door Fitting

above

221



1

2

3

4

5
5

5
6

6

7

7

7

7

8

8

9

10

11

12

13

13

14

15

16

17

18

19

20

29
3

1

2

PL-2002-

PL-2002-

PL-2002-

4
PL-2002-

Panels and Bedframe:

221



  (1PC)                      (48PCS)                  (40PCS)                 (50PCS)                   (46PCS)                 (32PCS)                     (4PCS)                    (2PCS)    

    (78*20*15)                (D15*13)                 (D7*32)                  (D6*30)                 (D3*16*8)          (D5*26*20)                ( D7*48)                  (M8*25)  

1

2

3

4

5
5

5
6

6

7

7

7

7

8

8

9

10

11

12

13

13

14

15

 A10      A1      B1      G1      Q1      J1      S4      Q3     

Step 1

R2     
    (4PCS) 

 F6      
    (2PCS) 

    (M4*15)     (50*30*35) 

 O1      
    (2PCS) 

    (D4*30*8) 

Step 18

R2     R2     

 F6      

 O1      

203



A

B

C13      
    (2PCS) 

    (50*1.5) 

B13      
    (2PCS) 

    (50*1.0) 

A13      
    (2PCS) 

    (50*0.6) 

4

2

3

Step 2

 Q2     
    (4PCS) 

 B6      
    (2PCS) 

    (M4*25)     (45*15*12)

Step 17

 B6      

419



Wall

Ground

A5

Q3

Or

I7

H7

A5
E7

O7

    (2PCS) 

    (60*30*30) 

H7      
    (2PCS) 

    (M8*1) 

E7      
    (2PCS) 

    (D8*1) 

O7      
    (2PCS) 

    (M8*8) 

    (2PCS) 

    (M8*70) 

I7      A5       Q3
    (2PCS) 

    (M8*25) 

A5

Q3

(2PCS) (2PCS)
S3      

    (M6*30)     (M6*40) 

H2      

Step 3

 Q4     
    (2PCS) 

 V1      
    (4PCS) 

    (M4*23) 

 F3     
    (38PCS) 

 F7      
    (38PCS) 

    (M6)     (M6*30) 

3

4 2

1

Step 16

Bedframe Fitting Door Fitting

 Q4     
 Q4     

185



 O1      
    (8PCS) 

    (D4*30*8) 

 P3      
    (8PCS) 

    (M6*42) 

 U51     
    (1PC) 

    (500*50*5) 

 U52     
    (1PC) 

    (500*50*5) 

Step 4

 U52     

 U51     

 A6      
    (2PCS) 

 L1      
    (6PCS) 

    (D3*16)     (61*26*6) 

Step 15

 A6      

617



 D5      
    (2PCS) 

 R3      
    (8PCS) 

    (M6*15)     (52*50*25) 

 C51      C52     
    (1PC) 

    (100*50*5) 

    (1PC) 

    (100*50*5) 

Step 5

 C52     

 D5      

 D5      

 C51     

 D6      
    (2PCS) 

 L1      
    (18PCS) 

    (D3*16) 

 U2      
    (2PCS) 

    (M6*70)     (276*34*15) 

 J51      
    (1PC) 

      (54*54*25) 

 J52      
    (1PC) 

      (54*54*25) 

Step 14

 U2      

 J51      

167



 E61      
    (1PC) 

 F5      
    (2PCS) 

    (D24*26) 

 D7      
    (2PCS) 

    (D16)     (207*30*35) 

 E62      
    (1PC) 

    (207*30*35) 

Step 6

 E62      

 F5      

 D7      

 Q7      
    (3PCS) 

 L1      
    (18PCS) 

    (D3*16)     (66*37*6) 

Step 13

 Q7      
 L1      

815



 W5      
    (2PCS) 

 X51
    (1PC) 

 C7
    (2PCS) 

    (138*52*24)     (154*48*10)     (D8*20) 

 X52
    (1PC) 

    (154*48*10) 

X52     

Step 7

 C7

 W5      

 L1      
    (6PCS) 

    (D3*16) 

 Z5      
    (3PCS) 

    (50*12*12) 

Step 12

 Z5      

149



 Y5
    (2PCS) 

    (43*13*30) 

 J61     

 J61     

    (1PC) 

 J62     

 J62     

    (1PC) 

Step 8

 Y5

 D3      
    (4PCS) 

 S3      
    (4PCS) 

 S1      
    (4PCS) 

    (D4*35)     (M6*30)     (M6*20) 

 F3     
    (4PCS) 

    (M6*30) 

Step 11

1013



 H5      
    (2PCS) 

 G5
    (2PCS) 

    (D12*18)     (D12*33.5)

 B7
    (2PCS) 

    (M6*5)

Step 9

 G5

 B7

 H5      

 Q6      
    (2PCS) 

 A7
    (4PCS) 

    (M8*8)     (600N/100N D 22*580)

Step 10
above

 Q6      

1211


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12

